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Let-4

1.There are 20 pieces of bananas. If you
give 5 bananas to each child ,how many
children can get bananas?

Explain:

Let’s think and discuss how to find the
answer by using multiplication.



(1)When we give 5 bananas to 1 child:
R g i =5

(2)When we give 5 bananas to 2 children:
i ] >=x2=10

(3)When we give 5 bananas to 3 children:

— (-]

(4) When we give 5 bananas to 4 children:

We can find the answer for 20+5 by using
the multiplication table of 5.

4 ¢hildren
Sol":



5 bananas get 1 child
Therefore 20 bananas get (20+5)children
=4 children.
Ans: 4 children.

##We distributed 32 lychees among a few
children .Each child gets 8 lychees. How
many children were there?

Sol":
8 lychees get 1 child
Therefore 32 lychees get (32+8)children
=4 children
Ans: 4 children.



##A school has 45 notebooks for an award
to students. If the school gives one
students 5 notebooks, how many students
will get the award?

Sol" :
5 notebooks get 1 student
Therefore 45 notebooks get(45+5)students
=9 students.

Ans: 9 students.

The end



